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NOTE: - Write same question number ..c.b»ufz.}_/.ﬂrfié C;;/‘Q/"’ul/"dlrgﬁugélfdli Y
and its part number on answer book, as given in the question paper.
SECTION-l s

2. Attempt any five parts. 10=2x5 JEfezlizihe 8 240
(i) Define Chemistry. —L):):—é‘/Ud 24 (i)
(ii) \Write down empirical formula of Benzene and Glucose. _q'/’;furxﬁﬂﬁ 1§ oL ul )};f (ii)
(iiiy  Write down any two differences between Atom and lon. *WJJ):JJ:UJ T»lﬁf (iii)
(iv)  Anelement has atomic number 15, ¢ E AT S M LK L e 16 ALl ()
how many electrons are in K, L and M shells?
(V) Write down any two properties of Cathode Rays. -ﬂ‘{:yﬁ»é:@;ﬁﬂ/ (v)
(vi) Write down the name of any four elements of 1st group. _u:""rz‘:éﬂl:hyéfif;/zg (vi)
(vii)  Define Atomic Radius. LSS B ISR (i)
(viii)  Why lonization energy decreases in a group from top to hottom? Ve Jﬂr@/ f/'IJ"xc,g Ig‘;;:.x;iu'us);gf {viii)
3. Attempt any five parts. 10=2x5 -c’;"':(wa?Ll?!éLc.Jf 234U
(i) Why do Atoms react? "u*a_./uz/_/(rd.f/i (i)
(i)  Define Metallic Bond. ESaE (i)
(iii) What is the difference between Polar and Non-polar Covalent Bond? ‘.‘,.;..J/'k@hyvf&sﬂgwtnr)g (iii)
(iv)  Define Pressure. What is its SI Unit? ?.;_.t_rf'-.:a‘g Sl U1 -:c;i‘....éj/""lfﬂ{ (iv)
(v)  What is meant by Transition Temperature? g.:yt,f»_ ,é/;}c?»:ﬂ} (v)
(vi)  Whatis the difference between Solute and Solvent? ?.;_J}y’u'..,::.}fy S ey (Vi)
(vii)  Define Molarity. S S A (i)
(vii)  Write down two examples of Colloid. _g.;;}ut’mj K (viii)
4. Attempt any five parts. 10=2x5 Efep Lzl & 4

e K=+l 0=-2 AT Kl O Bpbdfs e K kCIO5 ()
() Find out the oxidation number of Chlorine in KCiO3. As oxidation number of K=+ 1 and

oxidation numberof O =-2

(i)  Give two examples of Electrolytic Cell. ‘éju:'@»&)—“.,@:}?l (ii)
(i)  Define Electroplating. LE WA il
(iv)  Write procedure of Electroplating of Zinc. _.;.,"g.‘ii;, )Kﬂ;}gfd:@ (iv)
(v)  Write the names of any two very reactive metals. ..cg;%téﬂ‘?-!:/ Isernsdd (v)

(vi)  How chemical reaction of Chiorine with Methane is carried out e bwel PEIGISL P ZAL L2568 (v
in the presence of bright sunlight?

(vii)  Write the names of any four Halogens. ﬂ,i‘ic{r'tc.‘/./‘é?:f:,?f‘tg.:,(j/ (vii)
(viii) How non-metals play vital role for the maintenance of life? ?pgd)’m/l)/?’iléfuf‘{)f'%‘fﬁjﬁwt (viii)

SECTION-IIl a2
NOTE: - Attempt any two questions. 18=2x9 _g{;/’agfzég,mma,éf -2

5.(A) Write five postulates of Bohr's Atomic Model Theory. 5 dufgaé‘é\gﬁdxx?dj‘t.fmx (.5
(B) Define the following branches of Chemistry:- 242 I At eiesdiAE ()
Industrial Chemistry §A4U 441 (i)  Nuclear Chemistry §~54% (i)
6.(A) Define Co-ordinate Covalent Bond. 5 o ;)’;.JL"».,Q#L:,,JJ: -é&f&ﬁg%»@gdb?f (-6

Explain it with one example.

(B) Define Evaporation. What is the effect of temperature on it? 4 St 20 AT ES - /ifmst (&)
7.(A) Discuss manufacturing of Sodium metal from Down's cell in detial. 5 -é&ﬁ.c;. J:‘f'rgdxg‘d/ﬁéﬁrcﬂu"f?ﬂi (.7
(B) Write down the characteristics of Suspension. 4 _é;f::«l;:r“’.J (Suspension) u"'i ()
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145 =

MAXIMUM MARKS: 48

NOTE: - Write same question number

48

i

-LCJ}U’L/JFVJi’é C;J/}]ﬂi/dlfdj/d(di?

and its part number on answer book, as given in the question paper.

SECTION- i.»

2. Attempt any five parts. 10=2x5
(i) Write the empirical and molecular formula of

the given compounds:-
i) Write two differences between Atom and lon,
i) What is meant by Triatomic and Polyatomic Molecules?

Iv)  Complete the chemical equation.

vi)  What s the trend of Electronegativity in period and why?

vii)  Whatis meant by Electron Affinity? Give an example. w :;;,C’Ul"‘/,{l ?lur/gc,&"’ru,j-@ (vii
viii)  Write two properties of long form of periodic table. - ;yﬂjo’uﬁbﬁwﬁpuﬂ (Viii

(i) H, + F, —

(i) Hydrogen peroxide %17,

(

(

( iBe + 1He—>
(v)  Make the diagram of Hydrogen isotopes, Deuterium and Tritium.
(

(

(

NOTE: - Attempt any two questions.

5.(A) Write down the properties of Canal Rays.

@

B

/’J‘

b
l--"

S Fe 2 bl & 2

.....*‘_“.JL'FJWVPL;'J Uy hLﬁ/"cCMU,ZC.:
(i) Benzene (/=

</ L)/»ulz'.uc..tj U:Jr'l

Sl L erdmu ﬁ-udr,
AL

-\ f}[zuﬁJf:i}j:i{ffgwd)’f il J’u,b‘b

‘e ue Ips d s

(i) H,+ Br, —

SECTION-II (1.2

(i)

(if)
(iii)
(iv)
(v)
(vi)

vii)

)

3. Attempt any five parts. 10=2x5 -”é{f:,u,eéumégajf _3/,U1y
() Metals are good conductor of Electricity. Why? fux -SLaSrdL LFJ}: (i)
(i) lonic compounds are solids. Explain. -L{x‘:wié; ,ufé'.mf,v‘f;ii L_;f.fsf I (ii)
(i) Why does ice float on water? sedrudgdis (i
(iv)  Whatis the diffusion of gases? Give example. e q-b(u"'r’”-*uf/ (iv)
) Define the term Allotropy with example. ok ,aulmu/bf /Jw/:*i (V)
(vi)  Whatis Aqueous Solution? fe U/J)L’ i1 (vi)
(vi)  Define unsaturated solution. <[ o /‘J u‘}' bt K ol i)
(vili) How to prepare Molar solution? Se bbbl J;L‘)r (vii)
4. Attempt any five parts. 10=2x5 ixfuuhﬁ! 7!@:.0[ ..4/wa
(i) What is meant by Electroplating? =S ;.'/fg.:; w.‘:J'}/‘J.’.'/l (i)
(i) Whatis Electrolytic Cell? Give an example. Ui "LMJ’-@JM (ii)
(ii)  Define strong Electrolytes and also give an example. uu;:f’ 1L*»JF»I f_ﬁ/;u(u;*]:}ﬁfjﬁtb (i)
(iv)  Write two rules of assigning oxidation number. J"“»l;’»..._)lﬁ’ﬂ/u T (iv)
(v)  Write two uses of Magnesium. e leinl u.m.x_x_(_\..: (V)
(vi)  Define Electropositivity. APk m,ﬂl (Vi)
(vii)  Write down two physical properties of non-metals. & Jif{,“"L /"‘uL (vii)
(viii)  Complete and balance the given equations. -\ Uu I'"’:;JL, JJJ:L»JU: (vii)

uégfau?éumn*aé[ Y

-J/(/ el Sl (U).5

(A)

(B) Whatis a Mixture? Define its types and give examples. 4 _Q;u’ft‘a,-h..g A |’v”du" e e /‘r (&)
6.(A) Write down five properties of Metals. 5/ fuLar“’ ?/Lu)”' ()6
(B) On what factors diffusion in liquid depends upon? Explain. - f feolos “a/,f/-éu( Lifmn"nu..& ()
7.(A) Explain the manufacture of NaOH from Brine. 5 el ﬁf—_wwm)v ,al/‘wtﬂ e iy (L).7

(B)

Define Saturated Solution and how it is prepared?

-;—-“.’EJ-’E’%J:""?E’Q’J'M-"‘? (&)
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PAPER CODE 2018 (A) i%Yf;‘ s
SSC PART-! (9th CLASS)

NUMBER: 1481
CHEMISTRY (NEW SCHEME) GROUP-I (20152017 o5 )ty = oo/ (&£ 2) (£
TIME ALLOWED: 15 Minutes OBJECTIVE d.f!/',.-a? w15 = =l

MAXIMUM MARKS: 12 12
A i L St 23 Jdl N e UJ/'::':L.:d.VA:JIr/JQKdV - BLE D 4ICBA eVl Jivg &

{24 _fhtgg;u /L}:(g_f'u;:"(!d_/4 J‘:}Jfb ubﬂu:"bb_.fiu):u‘u»"JL/Q Jok 4 d../Cpu;/!mL;a.wi Z
Note: You have four choices for each objective type question as A, B, C and D. The choice _J_/C:J’/j;aﬂfr

which you think is correct, fill that bubbie in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 | /':}J‘:’
(1) ____ of the following elements is found in most abundance in ~+t'LM”L);—_.-_./.;-_uf;_,f"./'%u‘j?--;,-ui AU (1)
the Atmosphere.  (A) Argan w§.7 (B) Oxygen ;)’-7"-? (C) Nitrogen ¢#t (D) Chlorine 7.5

(2) The isotope C - 12 is present in abundance of:- e Pl Jlié __ C-12 -;Mi (2)
(A) 96.9 % (B) 97.6 % (C)99.7 % (D) 98.8 %

(3) ____ has lowest Electronegativity of the following Halogens. ..«._L.{c-_,..,/u:cﬁ:{'j‘jjénﬁ ﬁg}).olu/ L (3)
(A) Fluorine ¢/, (B) Chiorine ¢ ¥ (C) Bromine %/ (D) lodine /357

(4) Mark incorrect statement about lonization Energy:- ,V-'/\y,::iudul.v "....L, BTl (4)

(A) Itis measured in KJ mol™! < Jw;&f Kd mol™! J‘k;&;g (B) It decreases in a period .;_L_;xr‘ u-;-,-zu.,g,:::

(C) Itis absorption of energy .;._J;:h._,jg EV-0s] (D) It is decreases in a group J}fi"’f;& U:*-:'“';
(5) When an electronegative element r(’d..“»\_,lw:z._vwf Gl JrrJL:,-ﬁF M"Jgﬂ-;,-;’-?r_{i'__,e (5)
combines with an electropositive element the type of bonding is:-
(A) Covalent ek (B) lonic ¥T (C) Metallic l&* (D) Coordinate Covalent wsksfes 4,7
(8) Ice floats on water because:- ui.»f»:'/q._ Jg’gd;..ix (6)

(A) Ice is denser than water _7_,_&;’3/;.;_'3&..34 (B) Ice molecules moves randomly ug.;'"_/'f:.f/“,_..;}.{_, x'";ptf._.i :
(C) Water is denser than ice 4....5{,‘:'—(:.....5;:4,}_& (D) Water molecules move randomly w:..»"_»f?_f_,;f-' J{‘QL.;__L,L
(7) In the evaporation process, liquid molecules which leave the _.;_.uyuuqlu‘r_;ﬁ"fi/udu«ﬂtiwu ._..,;,'w’ Ji (7)
surface of the liquid have;-

(A) Very low energy-\;,:;if% (B) Moderate energy in&{J.J
(C) Very high energy slssbier (D) No energy (w5
(8) Concentration is a ratio of - -L@Jﬁ/‘ @)

(A) Sclvent to solute d';,wﬁr.».;a—'».)r (B) Solute to solution LN = iy

(C) Solvent to solution J;_-,:)L’.:...*.«'a.:’r (D) Solute to solvent o.:;f,)rc....:fr

(9) Molarity is the number of moles of solute dissolved in:- st SR sl L v (9)
(A)1 kg of solution 2L 1 £ f (B) 100 g of solvent ¢/ 100 £ o
(C) 1 dm? of solvent U2 1dmS oz i (D) 1 am? of solution U4 1dm3 L;F}‘

(10) The most common example of Corrosion is:- e dbrbe SunS  (10)
(A) Chemical decay 2s}7 K< (B) Rusting of Iron bf_@)%_)
(C) Rusting of Aluminium Jf}:‘?ﬂ'ﬁ (D) Rusting of tin t0_&3 .2

(11) Neison's cellis used to e (urtye /35 e St - Fe UL L8 L K7L pd Jor® (11)
prepare Caustic Soda along with gases. gas is produced at Cathods from the given,

(A) Cly (B) H, (C) O4 (D) 0,
(12) of the following non-metal is Lustrous. M it it (12)
(A) Sulphur - (B) Phosphorus (u#6  (C) lodine ¢/5#7 (D) Carbon @€
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PAPER CODE 2018 (A) CZ/W A
NUMBER: 1483 SSC PART-l (9th CLASS) '

CHEMISTRY (NEW SCHEME) GROUP-I (2015-2017 o< ) e - .?.df ( (‘7 %) 6/*4-(
TIME ALLOWED: 15 Minutes OBJECTIVE Lf‘i/".a? R s
MAXIMUM MARKS: 12 12s
S ofp L A3 Qb N S U &osi vy 36312 LD 1 C B A N2l vy "y

(24 Kb e S L it Bt sl as S TG ok S itmbie i 2
Note: You have four choices for each objective type question as A, B, C and D. The choice -t,:)::f}f:;aﬂlr
which you think is correct, fill that bubble in front of that question number, On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that guestion. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Inthe evaporation process, liquid molecules which leave the -3 L}x;ﬁw;u;:i_: Jﬁf&t/"z{—ju?ufd'rf- w%y (1)
surface of the liquid have:-
(A) Very low energy&)rﬁ’aﬂ (B) Moderate energy dz’ldg«w
(C) Very high energy (8.5l jex (D) No energy Jnui?fﬁ)i )
(2) Concentration is a ratio of:- -é-cf’ﬁf”‘J (2)

(A) Solvent to solute Ubsye2ndy  (B) Solute to solution Seive oy
(C) Solvent to solution JgF:L‘c-...::f...Jr (D) Solute to solvent Jesdve ooy

(3) Molarity is the number of moles of solute dissolved in:- ~ineai S Kg!‘ﬁuu{f?ﬁ~#ﬁfﬁ/€f (3)
(A) 1 kg of solution L,i"r'lf:{ 1 Lo (B) 100 g of solvent rlf 100 Zanly
(C) 1 dm® of solvent 2 1dm® L s (D) 1 dm? of solution & 1 dm® £ fi+
(4) The most common example of Corrosion is:- editbedunl @)
(A) Chemical decay ‘w13 K< (B) Rusting of Iron l;lf.fj:rq_-_.ﬁ
(C) Rusting of Aluminium bﬁ.ﬁ‘f[{ryﬁl (D) Rusting of tin tJ_Z3/.7
(5) Nelson's cell is used to _.?__J,«Ls{sﬂ A e A e ML L S EKF L o (5)
prepare Caustic Soda along with gases. ____ gas is produced at Cathods from the given.
(A) C|2 (B) H2 (C) 03 (D) 02
(6) _____of the foliowing non-metal is Lustrous. e et St Jitn (6)
(A) Sulphur (B) Phosphorus (2#6 (C) lodine /37 (D) Carbon /6
(7) of the following elements is found in most abundance in ~ebllnlic cre Ui - IS5t AU (7)
the Atmosphere.  (A) Argan ¥7 (B) Oxygen T (C) Nitrogen ¢4t (D) Chiorine
(8) The isotope C - 12 is present in abundance of:- ..d‘...t'l'?b.[;u:ﬂﬁ‘ &2 h.“_,:i}jf' (8)
(A)96.9 % (B) 97 6 % (C)99.7 % (D) 98.8 %
(9) ______has lowest Electronegativity of the following Halogens. _c.__H;_..._xufu":&&,tiG»ﬂi L2000 - (9)
(A) Fluorine ¢7.s# (B) Chiorine /¥ (C) Bromine 14 (D) lodine ¢3¢ T
(10) Mark incorrect statement about lonization Energy:- LGS FTE G HFAET  (10)
(A) It is measured in KJ mol-! :‘_JLng_f: KJ mol J%JJ{ (B) It decreases in a period q_Jﬁr%‘xﬁufé,&,
(C) Itis abserption of energy .-.;_.Jﬁ_,jﬂj,iluﬁuﬂ (D) Itis decreases in a group ‘L&Kl}’@a&. U:?I/Z
(11) When an electronegative slement e S Gbruenl e BAL et 2O 2620 0 s (1)
combines with an electropositive element the type of bonding is:-
(A) Covalent wksf”  (B) lonic £¥T (C) Metallic & (D) Coordinate Covalent wskses 5,1
(12) Ice floats on water because:- _:.L‘/;;:;. J,f‘{&*;._ix (12)

(A) Ice is denser than water .f_..qv_fffa,d&dz (B) Ice molecules moves randomly UEL/LLJ/}'*F}%..){QLLJJ:
(C) Water 1s denser than ice « —i¥e ...if.dk (D) Water molecules move randomly u;i.f@‘:?c,d’?}é_)’ggtﬁdl;
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PAPER CODE 2018 (A)
SSC PART-l (9th CLASS)

NUMBER: 1485
CHEMISTRY (NEW SCHEME) GROUP- (2015-2017 ™ ) iy _ o/ (£ 2) gt
TIME ALLOWED' 15 Minutes OBJECTIVE o:’:/’,..a? e 15 = &b

MAXIMUM MARKS: 12 12= K
A B\ I3 0L Np i uui:éa,saw_’.dir,—;Qb’w JELE D HC B A A2l g s
124 ch_.LoLJuw/dfu"uu‘dd_.Lf )':).ul: -fmrawuliuﬁd'uu‘cfé_/c; Jok ! LfJU:/buLJ;;J <&

Note: You have four choices for each objective type question as A, B, C and D. The choice *uj/f:d’);;a Uty

which you think is correct, fill that bubble in front of that question number. On bubbie sheet, use marker or pen

It

to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
mary questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A Ay

(1) Nelson's cell i1s used to _‘_Vyufxm’rm S itn -.u;‘_[}'Lf"!.fldwlc_f_":..L/CE"].:Y’»L;{JVG_Q)‘-JL_/ (1)
prepare Caustic Soda along with gases. ____ gasis produced at Cathods from the given.
(A) Ciy (B) H, (C) Og (D) Oy
(2) ____ of the following non-metal is Lustrous. R SRSy 1§ O W 4 10 (2)
(A) Sulphur i+ (B) Phosphorus U6 (C) lodine ¢/ 3¢T (D) Carbon @r.¢
(3) of the following elements is found in most abundance in -~ bbllolic _‘/‘;J:uﬁj‘,d}a»uf/«bm (3)
the Atmosphere (A) Argan €T (B) Oxygen \f"l (C) Nitrogen ¢4t (D) Chiorine Jﬂg
(4) The isotope C - 12 is present in abundance of - e bl C-12 ..;.-’fl (4)
(A) 96.8 % (B) 97.6 % (C)99.7 % (D) 98.9 %
() ____ has lowest Electronegativity of the following Halogens. SN P BY UC VS IINA ;,C,/*.g' W (5)
(A) Fluorine ¢f s (B) Chlorine c)_’;:{ (C) Bromine (/s (D) lodine /3¢ T
(6) Mark incorrect statement about Ionization Energy:- - /&*LJUHLGJJ"'Z-V A T (8)
(A) It Is measured in KJ mol™! = tp;,,u KJ rnol'1 # J (B) It decreases in a period _,Jy w; ek fi
(C) It is absorption of energy cl__dm_.,iydjfvtuﬂ (D) Itis decreases in a group .:.J; r"uu« o ...,;/
(7) When an electronegative element _.:.Jn{i}..ul.uw:&u ;.r_»L_ar!.«.....,/J'FmL,-/-ﬁ f/._zf”lr",-/-*fl Lz (7)
combines with an electropositive element the type of bonding is:-
(A) Covalent wsbs  (B)lonic 62T (C) Metallic Lt (D) Coordinate Covalent wsky/l 3,1
(8) Ice floats on water because:- _:.i’/;;:;_ J/:"J;Jg...‘/. (8)
(A) Ice is denser than water .;@;‘UT;JL_J (B) Ice molecules moves randomly (12 f.v”}-._.;}.i_/"rlj’.:_} ¢
(C) Water is denser than ice c__.éi‘;:..._ixdt. (D) Water molecules move randomly (72 /ST ste.. PR U
(9) In the evaporation process, liquid molecules which leave the #c.*JrL,..uJu, L5y é’;_,ff"i.)gf'uu";, B =g (9)
surface of the liquid have:-
(A) Very low energy ;_E.)I';":.ft (B) Moderate energy J.)JL:SLA»
(C) Very high energy (/s e (D) No energy J)ru':-}'&)i
(10) Concentration is a ratio of:- _cl_.:wr"-;.-%’/’"”" (10)
(A) Solvent to solute Jsrdye_ iy (B) Solute to solution ufjﬁfa._‘.y;'r
(C) Solvent to solution (fotewnsy (D) Solute to solvent isdve oy
(11) Molarity is the number of moles of solute dissolved in:- _:nu.&)";z.—;_;rﬁuuf/"r‘é LS A (1)
(A) 1 kg of solution L,r:» 1L w:}a, (B) 100 g of solvent 1/ 100 £ s
(C) 1 dm® of solvent & 1dm® & ws iy (D) 1 dm? of solution U1 dm3 LAk
(12) The most common example of Corrosion is:- -c_uww._,../uu»/ (12)
(A) Chemical decay 2»%13 J6< (B) Rusting of Iron tif_ﬂ:ff_.:'
(C) Rusting of Aluminium l-,i’;ﬁfﬂi (D) Rusting of tin t_&s(.2
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TIME ALLOWED: 15 Minutes OBJECTIVE (§%>.» e 15 = =
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Note: You have four choices for each objective type question as A, B, C and D. The choice _J/ d’)}._.uw
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question, Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /"Ub-‘
(1) Whnen an electronegative element H_uy()JM»Luw;L M BALL \.AJ"y;.s/C' u’.../f'r; 20 L (1)
combines with an electropositive element the type of bonding is:-
(A) Covalent ot/ (B) lonic &7 (C) Metallic fiz* (D) Coordinate Covalent wobs’s Ty
(2) Ice floats on water because:- =y -rx\)L..;/ (2)

) war ) i
(A) Ice is denser than water .:...a:dc_.-lL._sx (B) Ice molecules moves randomly z oS ,_/,._,/r*’uu._y

(C) Water is denser than ice .»_,_éﬁ-f- a...zJE. (D) Water molecules move randomly J.'_./_f}c.b{fz..f{...._,»

(3) In the evaporation process, liquid molecules which leave the = rw\)ru‘a_mfé JVL)YO.. R ../_-L-,-‘-’my‘ (3)
surface of the liquid have:-
(A) Very low energy -Lj’.,r'fif;—,f. (B) Moderate energy (., lLz-,u
(C) Very high energy & ssl jer (D) No energy Un eid
(4) Concentration is a ratio of:- == .-.»»-\,"‘-/“J (4)

(A) Solvent to solute Yesdrevsdr  (B) Solute to solution (b e oy
(C) Solvent to solution (Sufbe. s v (D) Solute to solvent (ws e woy

(5) Molarity is the number of moles of solute dissolved in'- = nyf?r_ﬂﬂuu/ vl L r(§ Ay {5)
(A) 1 kg of solution 2rLL¥ 1 2 fb (B) 100 g of solvent rff 100 £ iy
(C) 1 dm® of solvent 2 1dm3 Loas i (D) 1 dm* of solution A1 dm3 LA
(6) The most common example of Corrosion is:- & -JL"?-rL;;. by (8)
(A) Chemical decay ;5 < (B) Rusting of Iron uf_f;)%_,f
(C) Rusting of Aluminium /L&) (D) Rusting of tin ef_&5/2
(7) Nelson's cell is used to _‘:_;Jm&;;jﬁi,-’fy VA ETON, et L0 ek w_v{gf.fr_,vi’:)" <1 (7)
prépare Caustic Scda along with gases. _____ gasis produced at Cathods from the given
(A) Cly (8) H, (C) O4 (D) O,
(8) ____of the following non-metal is Lustrous, _q_ﬂ;ﬁ, BRI Y-10 O St (8)
(A) Sulphur 3~ (B) Phosphorus (u#6  (C) lodine ¢73¢7 (D) Carbon ws‘
(9) of the following elements is found in most abundance in ~e-bllilnbic v A" f Lun e AU (9)
the Atmosphere.  (A) Argan w£.7 (B) Oxygen u’-:;" (C) Nitrogen ¢t (D) Chforme ,-’{
(10) The isotope C - 12 is present in abundance of - Pl C-12 OT (o)
(A) 96.9 % (B) 97.6 % (C)99.7 % (D) 98.9 % '
(11) ___ has lowest Electronegativity of the following Halogens. _g_,”';-_.._/uigﬂﬁvfjau&, ﬁg’;}?fu'./ ____ (11)
(A) Fluorine ¢/ (B) Chlorine ;,”'J:{ (C) Bromine s (D) lodine /347
(12) Mark incorrect statement about lonization Energy:- UGBS h&Jw:Uat'l";:lftf-T (12)

(A) It Is measured in KJ mol™! <~ dL.?LJI,J-: KJ mol? J""E;J;,fl (B) It decreases in a period .._L,y. E,U. ek

(C) It is absorption of energy ?.L;!E.T“;fdf'fu':vfl (D) Itis decreases in a group < {ix Lo g

, A u-u.-t 1
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Note: You have four choices for each objective type question as A, B, C and D. The choice _;,:)::J'ﬂj:aﬂff
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) The element is found in most abundance in earth's crust:- ~e- bbbl o b Pl wset (1)
(A) Oxygen = 1 (B) Aluminium & (C) Silicon L (D) Argon w7

(2) ___ consists of four subshells. :.ng, J’l—'-i-—*’zk m— (2)
(A) K shell J< K (B) L shell £ L (C) M shell £ M (D) N shell £ N

(3) Mendeleev's periodic table was based upon:- Lr‘ [ S ad (3)
(A) Electronic configuration ¢*A_¢, 20| (B) Atomic mass L L
(C) Atomic number ~_(¢l (D) Completion of a subshell th;E’ug_/

(4) ____ elements are there in the first period of long form Ut er"Jzi . uﬁéﬁé__g LJ"JEL,&JT@G.Q (4)

of periodic table. (A) 2 (B)3 (C)4 (D)6

(5) Transfer of electrons between atoms results in:- ~g Cﬁ_sf'b’uwuffj_}‘?fuy».ﬂy':l (5)
(A) Metallic bonding u’l':,,rﬁdf_f,;’:gbﬁ_i‘ (B) lonic bonding ufuﬁij{.JffT
(C) Covalent bonding skt usksd (D) Coordinate Covalent Bonding (st b woksdsi )T

(6) pair has polar covalent bond. it L”éfrl-l,._a.f-&.-ﬂg/:; - (6)
(A) O and Cly (B) H,0 and Ny (C) H,0 and CoHy (B) H,0 and HCI

(7) One atmospheric pressure is equal to ___ pascals, - -‘.‘:f.cf,:f.:L"g —_ A4 (Atmospheric) J 15l 1 (7)
(A) 101325 (B) 10325 (C) 106075 (D) 10523

(8) In soft drink the solvent is:- R S S (8)
(A) Benzene ¢ # (B) Water () (C) Milk w15 (D) Oil J

(9) Molarity is the number of moles of solute dissolved in:- _mﬁd‘}?{_ﬂ,&ud’ﬁrz‘:;;éy&,/,‘r (9)
(A)1kgof solution e 1 £ fk (B) 100 g of solvent u¢l/ 100 L ws sy
(C) 1 dm3 of solvent U 1 dm® £ vy (D) 1 dm3 of solution * 1 dm3 L+

(10) The oxidation number of Chromium in K,Cr,0, is:- e APITTEES R K0, (10)
(A) +2 (B) +8 (C) +7 (D) + 14

(11) The most common example of Corrosion is:- e uns (1)
(A) Chemical decay J’y{f,}?p_‘f (B) Rusting of Iron l'fUﬁ_f)y‘%,.,--f
(C) Rusting of Aluminium [—,Lf/_f;,?ﬁ’,ér (D) Rusting of Tin ¢0_&

(12) Of the following non-metals s extremely hard. —esFedd _ ERUSes (12)
(A) Graphite w2/ () Phosphorus (o476 (C) lodine ¢/3¢T (D) Diamond 241}
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Note: You have four choices for each objective type question as A, B, C and D. The choice -q/.’.:f}‘}:,usr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) One atmospheric pressure is equalto ____ pascals. _f_.t‘m:f.(f_ yE’Q ,‘4.:; (Atmospheric) _f/;a,- Lo 1 (1)
(A) 101325 (B) 10325 (C) 106075 (D) 10523

(2) In soft drink the solvent is:- ~e e ISy (2)
(A) Benzene ¢ » (8) Water (| (C) Milk 5515 (D) il K

(3) Molarity is the number of moles of solute dissolved in:- m:ﬁd"ﬁf_ﬂﬁnd’)f&_‘.ﬁr&jr (3)
(A) 1 kg of solution  LeL ¥ 1 LAk (B) 100 g of solvent 2t/ 100 L s dv
(C) 1 dm3 of solvent W 1 dmS L (D) 1 dm® of solution VA1 dmS £

(4) The oxidation number of Chromium in K,Cr,0, is:- e AP L R0, (@)
(A) +2 (B) +6 (C) +7 (D) + 14

(5) The most common example of Corrosion is:- _;g_g,-‘t"«-r-'.—;;, ;_../Ju':b/ (5)
(A) Chemical decay J#£35 E< (B) Rusting of Iron Jﬁff_ﬂ
(C) Rusting of Aluminium bﬁ_@’(f:&! (D) Rusting of Tin e/

(6) Of the following non-metals s extremely hard. ~eSFadd AU (6)
(A) Graphite w5/ (B) Phosphorus %6 (C) lodine Ogrdl (D) Diamond 443

(7) The element is found in most abundance in earth's crust:- e Flobbasbic o b fils S wst (7)
(A) Oxygen &7 (B) Aluminium @ (C) Silicon gl (D) Argon w7

(8) consists of four subshells. -Ca-b}-"‘?;}?w’-’:\;' — (8)
(A) K shell £ K (B) L shell (£ L (C) M shell £ M (D) Nshell J£ N

(8) Mendeleev's periodic table was based upon:- -Jﬁ?fﬁlﬁm.ﬁ.eir (9)
(A) Electronic configuration wﬁ-f/ﬁ";ﬁ}gl (B) Atomic mass it/
(C) Atomic number ~_(¢i (D) Completion of a subshell txd’%’u".?.,.f

(10) ___elements are there in the first period of long form _g,{;ﬁ ___u'.fé,g}.;.;"‘___’ id-"-":.fjg,z—_j f_r‘xtij:" (10)

of periodic table. (A) 2 (B) 3 (C)4 (D)6

(11) Transfer of electrons between atoms results in:- = m._én,?“.-,{;:,;?rw,xf;yer (11)
(A) Metallic bonding Vet Sk e (B) lonic bonding & S0 _fkL 6T
(C) Covalent bonding ;8L Bk wkd (D) Coordinate Covalent Bonding ui;.;ﬁJJi‘pmy'&gjﬁf

(12) pair has polar covalent bond. ~e L'EJJ:ILM:;Q;' A____ (12)
(A) O, and Cly (B) H,0 and Ny (C) Hy,0 and CyH, (D) H,0 and HCI
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NUMBER: 1486 SSC PART-l (9th CLASS)

CHEMISTRY (NEW SCHEME) GROUP-Il (20152017 ) s - o) (&£ 2) (24
TIME ALLOWED: 15 Minutes OBJECTIVE u“}/’.-a? 16 = &y
MAXIMUM MARKS: 12 12= AF
A o L TAh i3l perne UL sz v 36317 - L Es D 41 C B oA SRy o
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Note: You have four choices for each objective type question as A, B, C and D. The choice _q/C:J:J;mny
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that guestion. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) ____ elements are there in the first period of long form o ;  Fhme ) B T bty (1)
of periodic table. (A) 2 (B)3 (C) 4 (D)6

(2) Transfer of electrons between atoms results in:- R Csﬁé‘a’dﬁgf;:,}?ruwéy’:r (2)
(A) Metallic bonding (s k(2 (B) lonic bonding WA bkl EAT
(C) Covalent bonding .# it wsksy (D) Coordinate Covalent Bonding (4w s bkl wskieis,

(3) ____ pair has polar covalent bond. ) L'—'éj;?:y.w::j;'{,& D (3)
(A) O, and C|2 (B) Hy,O and Ny (C) H,0 and CyHy (D) H,0 and HCI

(4) One atmospheric pressure is equalto ______ pascals. _..;_.t.vrz:’f..-.’:y("g — /¢ (Atmospheric) .ﬁf el 1 (4)
(A) 101325 (B) 10325 (C) 106075 (D) 10523

(5) In soft drink the solvent is:- s L ISy (5)
(A) Benzene (B) Water (| (C) Milk 2355 (D) Ol F

(6) Molarity is the number of moles of solute dissolved in:- stoie S L s e s (6)
(A) 1 kg of solution u:r!/iﬁ Z o (B) 100 g of solvent u:rrj 100 Lotsy
(C) 1 dm3 of solvent U 1 dm3 L uz sy (D) 1 dm? of solution % 1 dm3 L A+

(7) The oxidation number of Chromium in K,CryO- is:- _q_/:;cf’u:gfi’b’(f;)f_,ﬂ KoCry0- (7)
(A) +2 (B) +6 (C) +7 (D) + 14

(8) The most common example of Corrosion is:- _;._,JL"'frl;a—_. _,.wJu;:'*:/ (8)
(A) Chemical decay J#5 E< (B) Rusting of Iron Lzlfﬁ_t’)f._f,:’
(C) Rusting of Aluminium ¢f_&/25k (D) Rusting of Tin I/

(9) Of the following non-metals is extremely hard. BRSO VY 201 8107 (9)
(A) Graphite <Az f (B) Phosphorus (2#6  (C) lodine L-,{Lfr' (D) Diamond 413

(10) The element is found in most abundance in earth's crust:- -_T_tlg-'x&azgjc_.__/ufuﬁ-!u/gﬂ (10)
(A) Oxygen W& 1 (B) Aluminium #4  (C) Silicon ¢kl (D) Argon 7T

(11) consists of four subshells, el (1)
(A) K shell (£ K (B) L shell £ L (C) M shell J M (D) N'shell (£ N

(12) Mendeleev's periodic table was based upon:- uu'%k?u(u?;?kﬁf-u-%'i'f:' (12)
(A) Electronic configuration ﬁ/@;c’/%’f (B) Atomic mass Jl{ ¢l
(C) Atomic number (¢ (D) Completion of a subshell x4
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Note: You have four choices for each objective type question as A, B, C and D. The choice _Q_’)::J’};:,ﬂlr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The oxidation number of Chromium in KyCry0 isi- -.f_.,—,;cfa%ﬁ(_(f:/"w KyCry04 (N
(A) +2 (B) +6 (C) &7 (D) + 14

(2) The most common example of Corrosion is:- -{_JL‘/r b __/Ju.'i‘s/ (2)
(A) Chemical decay s 23 (B) Rusting of Iron t/_£3 4
(C) Rusting of Aluminium  ¢d_£//5% (D) Rusting of Tin tI_&(?

(3) Ofthe following non-metals _____is extremely hard. —esFedld AU (3)
(A) Graphite w44/ (B) Phosphorus 256 (C) lodine T (D) Diamond 443

(4) The element is found in most abundance in earth's crust:- v.ci:.t'LgE&uJ_L_}L..,»’uﬂu%h/r&}‘f"l (4)
(A) Oxygen & 1 (B) Aluminium #1 (C) Silicon wik- (D) Argon o7

(5) consists of four subshells, _?.Ug%;;‘ﬁ._.—/ﬂ; - (5)
(A) K shell £ K (B) L shell £ L (C) M shell J< M (D) N shell £ N

(6) Mendeleev's periodic table was based upon:- _ﬁgéufg)”;/jgﬁ&ué;‘ia‘ (6)
(A) Electronic configuration ¢/8/_¢, 24 (B) Atomic mass 4t
(C) Atomic number ~_{ b (D) Completion of a subshell tﬁJ“:E’JE'.,,r

(7) ____elements are there in the first period of long form g L;f"‘JﬂI S Ufg,g:%iu?*;’/jgﬁa_iﬂo Y (7)

of periodic table. (A) 2 (B) 3 (C) 4 (D)6

(8) Transfer of electrons between atoms results in:- _%mé'gfof,}?vuyJ;L;ér (8)
(A) Metallic bonding s 4l (B) lonic bonding 4SS it 6T
(C) Covalent bonding ;L sy wkyd (D) Coordinate Covalent Bonding (sl w3,

(9) _____ pair has polar covalent bond. el &f)g%ﬂg,&__ 9)
(A) O, and CI2 (B) HZO and N, (C) H,0 and 02H2 (D) H,0 and HCI

(10) One atmospheric pressure is equalto____ pascals. i..j_.t‘:uwlrg’g Az (Atmospheric) .Jffff'w 1 (10)
(A) 101325 (B) 10325 (C) 106075 (D) 10523

(11) In soft drink the solvent is:- ~ I RS (11)
(A) Benzene ¢ » (B) Water d (C) Milk o35 (D) Oil

(12) Molarity is the number of moles of solute dissolved in:- st e s vl vl Ay (12)
(A) 1kg of solution et 1 £ A (B) 100 g of solvent e/ 100 L ws iy
(C) 1dm3 of solvent * 1 dm3 L e sy (D) 1 dm? of solution _* 1 dm?3 Y
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